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ANSWER KEY 
 

Rubric  
Score Description 

3 Student response includes the following 3 elements.  

 Reasoning component = 3 points  

o Correct explanation of relationship between work of Student 1 

and work of Student 2 in step 1  

o Correct explanation of relationship between work of Student 1 

and work of Student 2 in step 2  

o Correct explanation of relationship between work of Student 1 

and work of Student 2 in step 3  

 

Sample Response:  

In step one, Student 1 represents 4
1

2
 as five congruent figures, four of which 

are shaded entirely and one of which is shaded by half. In step two, Student 1 

breaks every whole into four congruent parts, maintaining the original 

shading. Student 2 makes common denominators for 
1

2
 and 

3

4
, changing 4

1

2
  to 

4
2

4
  . Both students relate 4

1

2
  as groups of 4. In step three, Student 1 groups 

the congruent figures into 6 groups of 3, which represents the value of  

4
1

2
÷

3

4
.  Student 2 converts 4

2

4
  into 

18

4
  , which is the number of grouped 

figures drawn by Student 1. 

2 Student response includes 2 of the 3 elements.  

1 Student response includes 1 of the 3 elements. 

0 Student response is incorrect or irrelevant. 

 

Glow Grow 
 

 

 

 

 

 

 

 

 

 

 

 

 

 


